A B U 22 #$ B =B
IEZE0DEH HEBABBRAXILSE ARRE)ISSERETS
B 5 B A A
AR B G B 570 3% 125 9B
A fL B BATRT 52 20228=
1 ALBE (E )
TE%ED| EALLEOBEXE | A & %8 (B K =) — % 5 s EHEDES EAL 2
E 2| % # =1 =20 s aliz (Bitk) X 1% B B (BiA)
RER BASHE BARE 5 650,000
X2i AT — ML TETHHo LS
REIBE Hak 28 JAR0I00 o BREEL BN LT
gﬁ?g%ﬁﬁgﬁ%ﬁ e 5275,
= {
REIUEE BuL B8 i
gzégiﬁe;:{cfrg BAEE — .
e 00, Bait Mtk
%£321218 9,624,000 KRB B = 10,340,000
[B& LDTFE) .
1 T FEMEIE. HERIREDEEETELE
2 TANZEHEHIZ. ALBENRBE -2V FLESBECHERIRZTD L) TRREH,
3 TZALEEEIT ALBELRBEL S -ZHNFELELED100D 110124 T IR CEHEBRHAANDSEE) TIEE;




32121

AR (fm)

ZHOMEFAHOD T # = &
208 R | BEXEEHE |20 _ IES 08 F I ¥ % @ =E BB R MW ZEST- BB
U & 7 % = 5= B Iz 8 1+ %5 & ® # H
£ A B £ A H
HIEE L=163.0m
FRIFILNEET A=753.7m2
BT L=100m
£%13%128 138 10,340,000 $%13E128138 | SHM4E3A248 2;31?{1' BIRTFRII B W=43~54m
r B # o I #H
EEZHE T E & B — IEZ0HB M I =3 % i = x 3] H 2]
& F 5 [53
£ A B £ A B
HIER L=163.1m BHIFELVRABSENRBIZLYO
FRIFILNGEET A=780.2m2 753.7m2/5780.2m2(<H T,
894,300 T L=16.5m
FH4E3A78 EEHL 188 W=35~5.6m
(11234300)
AR BEELK r B O# o I #H
EEZHAE T E & 8 = F3 = % IEZE0DHH i k-3 % i = x 3] b 2]
-3
REDGE Bl % e n A | £8°8
SETE
QO
rE B #%# o I #
EERZHA rEE & 8 — IETE0DHB AR T k-3 % i3 = x = 1 &#
& F 52 53
£ A H £ A 8
0
EFE B #%# o I #
EEZHE rE & 8 — IEXEZ0H R T = % B k-2 x 3] i 2}
& F 52 53
£ A B8 £ A ®
O

[(BBLOFR] TEEERHEE. SHNRHBELOBBEETHL. NI EEROZNBELTHT 5.



